This report contains the transfers results.

Contest Name

Ward 7 - East End

Valid Votes
4,438

Positions to be Filled
Quota

1,110

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Will DAWSON	Scottish National Party (SNP)	1,553
Ryan FINNEGAN	Scottish Liberal Democrats	110
Darryl GUTHRIE	Independent	205
Darren KANE	Scottish Conservative and Unionist	571
lan MCKAY	Dundee Against Cuts - TUSC	54
Caitlin Elizabeth MELDRUM	Scottish Green Party	113
William MORREN	UKIP	56
Margaret Mary RICHARDSON	Scottish Labour Party	965
Christina ROBERTS	Scottish National Party (SNP)	811
	Total	4,438

Candidate Will DAWSON Elected with 1,553 votes, being in excess of the quota of 1,110

This report contains the transfers results.

Stage 2 - Surplus of Will DAWSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Will DAWSON	0	0.00000	0.00000
Transfer to Ryan FINNEGAN	38	0.28525	10.83950
Transfer to Darryl GUTHRIE	43	0.28525	12.26575
Transfer to Darren KANE	16	0.28525	4.56400
Transfer to Ian MCKAY	38	0.28525	10.83950
Transfer to Caitlin Elizabeth MELDRUM	39	0.28525	11.12475
Transfer to William MORREN	8	0.28525	2.28200
Transfer to Margaret Mary RICHARDSON	62	0.28525	17.68550
Transfer to Christina ROBERTS	1,168	0.28525	333.17200
Value of non-transferable ballot papers			40.22700
	Total		443.00000

This report contains the transfers results.

Stage 3 - Surplus of Christina ROBERTS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Will DAWSON	0	0.00000	0.00000
Transfer to Ryan FINNEGAN	53	0.00851	0.45103
Transfer to Ryan FINNEGAN	29	0.02986	0.86594
Transfer to Darryl GUTHRIE	85	0.00851	0.72335
Transfer to Darryl GUTHRIE	41	0.02986	1.22426
Transfer to Darren KANE	18	0.00851	0.15318
Transfer to Darren KANE	16	0.02986	0.47776
Transfer to Ian MCKAY	69	0.00851	0.58719
Transfer to Ian MCKAY	41	0.02986	1.22426
Transfer to Caitlin Elizabeth MELDRUM	270	0.00851	2.29770
Transfer to Caitlin Elizabeth MELDRUM	191	0.02986	5.70326
Transfer to William MORREN	27	0.00851	0.22977
Transfer to William MORREN	13	0.02986	0.38818
Transfer to Margaret Mary RICHARDSON	146	0.00851	1.24246
Transfer to Margaret Mary RICHARDSON	87	0.02986	2.59782
Transfer to Christina ROBERTS	0	0.00000	0.00000
Value of non-transferable ballot papers			16.00584
	Total		34.17200

This report contains the transfers results.

Stage 4 - Exclusion of William MORREN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Will DAWSON	0	0.00000	0.00000
Transfer to Ryan FINNEGAN	3	0.00851	0.02553
Transfer to Ryan FINNEGAN	1	0.02986	0.02986
Transfer to Ryan FINNEGAN	1	0.28525	0.28525
Transfer to Ryan FINNEGAN	4	1.00000	4.00000
Transfer to Darryl GUTHRIE	1	0.00851	0.00851
Transfer to Darryl GUTHRIE	1	0.02986	0.02986
Transfer to Darryl GUTHRIE	6	1.00000	6.00000
Transfer to Darren KANE	1	0.28525	0.28525
Transfer to Darren KANE	9	1.00000	9.00000
Transfer to Ian MCKAY	2	0.00851	0.01702
Transfer to Ian MCKAY	1	0.02986	0.02986
Transfer to Ian MCKAY	1	0.28525	0.28525
Transfer to Ian MCKAY	2	1.00000	2.00000
Transfer to Caitlin Elizabeth MELDRUM	1	0.00851	0.00851
Transfer to Caitlin Elizabeth MELDRUM	1	0.02986	0.02986
Transfer to Caitlin Elizabeth MELDRUM	1	0.28525	0.28525
Transfer to Caitlin Elizabeth MELDRUM	1	1.00000	1.00000
Transfer to Margaret Mary RICHARDSON	1	0.00851	0.00851
Transfer to Margaret Mary RICHARDSON	7	1.00000	7.00000
Transfer to Christina ROBERTS	0	0.00000	0.00000
Value of non-transferable ballot papers			28.57143
	Total		58.89995

Dundee City Council

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Ian MCKAY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Will DAWSON	0	0.00000	0.00000
Transfer to Ryan FINNEGAN	2	0.00851	0.01702
Transfer to Ryan FINNEGAN	8	0.28525	2.28200
Transfer to Ryan FINNEGAN	9	1.00000	9.00000
Transfer to Darryl GUTHRIE	6	0.00851	0.05106
Transfer to Darryl GUTHRIE	4	0.02986	0.11944
Transfer to Darryl GUTHRIE	3	0.28525	0.85575
Transfer to Darryl GUTHRIE	11	1.00000	11.00000
Transfer to Darren KANE	4	1.00000	4.00000
Transfer to Caitlin Elizabeth MELDRUM	7	0.00851	0.05957
Transfer to Caitlin Elizabeth MELDRUM	6	0.02986	0.17916
Transfer to Caitlin Elizabeth MELDRUM	3	0.28525	0.85575
Transfer to Caitlin Elizabeth MELDRUM	11	1.00000	11.00000
Transfer to William MORREN	0	0.00000	0.00000
Transfer to Margaret Mary RICHARDSON	7	0.00851	0.05957
Transfer to Margaret Mary RICHARDSON	4	0.02986	0.11944
Transfer to Margaret Mary RICHARDSON	5	0.28525	1.42625
Transfer to Margaret Mary RICHARDSON	9	1.00000	9.00000
Transfer to Christina ROBERTS	0	0.00000	0.00000
Value of non-transferable ballot papers			18.95807
	Total		68.98308

This report contains the transfers results.

Stage 6 - Exclusion of Ryan FINNEGAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Will DAWSON	0	0.00000	0.00000
Transfer to Darryl GUTHRIE	3	0.00851	0.02553
Transfer to Darryl GUTHRIE	5	0.02986	0.14930
Transfer to Darryl GUTHRIE	11	0.28525	3.13775
Transfer to Darryl GUTHRIE	12	1.00000	12.00000
Transfer to Darren KANE	2	0.00851	0.01702
Transfer to Darren KANE	2	0.02986	0.05972
Transfer to Darren KANE	4	0.28525	1.14100
Transfer to Darren KANE	29	1.00000	29.00000
Transfer to Ian MCKAY	0	0.00000	0.00000
Transfer to Caitlin Elizabeth MELDRUM	12	0.00851	0.10212
Transfer to Caitlin Elizabeth MELDRUM	4	0.02986	0.11944
Transfer to Caitlin Elizabeth MELDRUM	2	0.28525	0.57050
Transfer to Caitlin Elizabeth MELDRUM	19	1.00000	19.00000
Transfer to William MORREN	0	0.00000	0.00000
Transfer to Margaret Mary RICHARDSON	6	0.00851	0.05106
Transfer to Margaret Mary RICHARDSON	2	0.02986	0.05972
Transfer to Margaret Mary RICHARDSON	10	0.28525	2.85250
Transfer to Margaret Mary RICHARDSON	40	1.00000	40.00000
Transfer to Christina ROBERTS	0	0.00000	0.00000
Value of non-transferable ballot papers			29.51047
	Total		137.79613

This report contains the transfers results.

Stage 7 - Exclusion of Caitlin Elizabeth MELDRUM

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Will DAWSON	0	0.00000	0.00000
Transfer to Ryan FINNEGAN	0	0.00000	0.00000
Transfer to Darryl GUTHRIE	98	0.00851	0.83398
Transfer to Darryl GUTHRIE	55	0.02986	1.64230
Transfer to Darryl GUTHRIE	12	0.28525	3.42300
Transfer to Darryl GUTHRIE	45	1.00000	45.00000
Transfer to Darren KANE	1	0.00851	0.00851
Transfer to Darren KANE	1	0.02986	0.02986
Transfer to Darren KANE	2	0.28525	0.57050
Transfer to Darren KANE	10	1.00000	10.00000
Transfer to Ian MCKAY	0	0.00000	0.00000
Transfer to William MORREN	0	0.00000	0.00000
Transfer to Margaret Mary RICHARDSON	35	0.00851	0.29785
Transfer to Margaret Mary RICHARDSON	30	0.02986	0.89580
Transfer to Margaret Mary RICHARDSON	12	0.28525	3.42300
Transfer to Margaret Mary RICHARDSON	38	1.00000	38.00000
Transfer to Christina ROBERTS	0	0.00000	0.00000
Value of non-transferable ballot papers			61.21107
	Total		165.33587

Dundee City Council

Transfers Report

This report contains the transfers results.

Stage 8 - Exclusion of Darryl GUTHRIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Will DAWSON	0	0.00000	0.00000
Transfer to Ryan FINNEGAN	0	0.00000	0.00000
Transfer to Darren KANE	8	0.00851	0.06808
Transfer to Darren KANE	10	0.02986	0.29860
Transfer to Darren KANE	9	0.28525	2.56725
Transfer to Darren KANE	44	1.00000	44.00000
Transfer to Ian MCKAY	0	0.00000	0.00000
Transfer to Caitlin Elizabeth MELDRUM	0	0.00000	0.00000
Transfer to William MORREN	0	0.00000	0.00000
Transfer to Margaret Mary RICHARDSON	108	0.00851	0.91908
Transfer to Margaret Mary RICHARDSON	57	0.02986	1.70202
Transfer to Margaret Mary RICHARDSON	16	0.28525	4.56400
Transfer to Margaret Mary RICHARDSON	81	1.00000	81.00000
Transfer to Christina ROBERTS	0	0.00000	0.00000
Value of non-transferable ballot papers			168.37081
	Total		303.48984